Efficiency vs Dxy(PV)

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_TT_base
—e— DQM_mkFit_TT_retrain_noCandDNN
[ Efficienc]| —— DQM_mkFit_TT_retrain

Ratio

0.

951080604020 02040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

< 08
S
N o7
2
P e R
o
5]
‘5 0.5
=
15} . .
0.4 - :
0.3 -4
E 1 1 i i 1
o+ . ; ;
T N 3 N
14 . " .
| SREEEE PR ++ P R ETEE PRPED
0¥ =20 10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5 - -
o . .
¥ : :
1 1 . .
> . .
> H H
o . .
& 0.8 : :
] : H
© . H
0.6 .
0.4
:
0957 -0.5




	Contents
	Page 1


